AP Physics – Newton’s Laws Quiz
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Who you be __________________________________________________________________Per___

I asked for all things, that I might enjoy life.  I was given life, that I might enjoy all things...

I got nothing I asked for -- but everything I hoped for.  Almost despite myself, my unspoken 

prayers were answered.  I am, among men, most richly blessed!  --  Roy Campanella
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A 125 N bucket hangs from support cables as shown.  What is the tension in the two cables?

2. A  5.00 kg box rests on a ramp as shown.  A 5.00 kg mass is hooked to it by a light string that goes over a frictionless pulley.  The coefficient of friction is 0.385.   The block on the ramp moves up the slope. (a) What is the acceleration of the system?  (b) What is the tension in the string?  
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3. A 5.00 kg box is on this here table.  The coefficient of kinetic friction is 0.265.  What is the tension in the string and what is the acceleration of the system?
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